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39- To be of the same idea?
1) opinion 2) agree
3) strange 4) disappointed

40- which sentence is grammatically correct?
1) | don't study hard but he doesn’t either.
2) | study hard and he doesn’t either.
3) | don't study hard and neither does he.
4) | don't study hard but neither does he.
41- Ali said to me“ Shiraz isvery cold today.”
1) Ali said to me Shiraz was very cold today.
2) Ali saidto me Shiraz is very cold that day.
3) Ali said to me that Shiraz was very cold yesterday.
4) Ali said to me that Shiraz was very cold that day.
42-In winter we usally have a light fall of...
1) fog 2) snow
3) storm 4) wind
43- 1 said “Good moring”, and he...
1) didn’t pay attention

2) just shook his head
3) didn’t answered me
4H1&2&3
44- which word is different from the others?
1) let 2) alow
3) permit 4) select

45- Mr Johnson said to the students “... your hand, if
you know the answer”

1) raise 2) rise
3) hold 4) hide
46- After along ..., we decided to buy a better stove.
1) argument 2) discussion
3) civilizations 4)1&2&3

47-The ... civelezationslived in forests.

1) scientific 2) primiteve
3) powerful 4) hopeful
48- We can’t travel by plane, unlesswe get his... .
1) opinion 2) idea
3) agreement 4) election
49-1 am alittle ...
1) worry 2) worried
3) hurry 4) in hurry
50- A: “wherewereyou?”
B: “I waswalding about”.
1) walking around 2) walking
3) walkikg with some one 4) running
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